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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 At R4.9.20 BERLLV=F (% BREE9(<4.6) BRHEE9(<3.9) BRHEEY
2 EZAM R4.9.22 BRLUN = (T (FEEY BRHEE9(<34) BREE3(<4.1) - Janpcc
3 ZARWT R4.9.22 BRLWM=F (3% BRHEE9(<34) 5.05 5.1
4 JIHRET R4.9.20 BRLWM=1F (5% BREE9(<3.2) 464 46
5 W2 T R4.9.19 BEERLULM=T (FE% BRHET(<3.8) BRHET(<L28) - Janpcc
6 SEEEE R4.9.21 BEERLULM=T (FE% BRHEET(<41) BRHET(<45) - Janpcc N
7 SEEEE R4.9.21 BERLULV =T (7EER) BRHET(<45) BRHET(<4.0) BRHEY
8 tHE™ R4.9.21 EAREL =T (EHh) BREE9(<4.9) 6.42 6.4
9 tHE™ R4.9.21 [EREL =T (EHh) BREE9(<L5.7) BRHEE9(<5.3) L Janpcac N
10 T $ERET R4.9.20 EAREL=IT(EHh) BRHEE9(<L5.5) BREE(<L5.1) L Janpcac N
11 T 4ERET R4.9.20 FREARFELV=1T () BHEY(L5.8) BRHEET(L5.1) BHEY
12 T 4ERET R4.9.20 FRARFELV=1T () BRHEEI(<3.7) BRHEET(<44) BREEY
13 T 4ERET R4.9.20 FREARFEL=1T () BRHEET(<47) BRHEET(<41) BREEY
14 7 AT R4.9.20 BREL =T (EER) BRHE9(<3.3) BRHE9(<3.8) BREEY
15 T 4ERET R4.9.21 BRUSI=1F (Fh) BRHEE3(<4.0) BRHE9(<4.0) BHEY
16 FETH R4.9.20 BRUSI=1F (HEE%) BRHEE9(<2.9) BRHEEI(<L3.1) BHEY
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No b1 R A APlniESE i 1-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg

17 ZAW™ R4.9.22 BRAOESL= T (%) BRHE(<3.6) BRHET(L3.7) BREET

18 AT R4.9.21 TR (ERE) BRHE9(<8.2) 9.68 9.7

19 FSEET R4.9.20 aoa4y (BRE) BRHET(<8.1) 19.8 20

20 F AT R4.9.21 a3 (BRE) BREE9(<7.0) 442 44
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